Multiplying Three Mon/Polynomials (F)
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Simplify each expression.

- (—5® —85% +35)(9s* + 57 — 35%)(—9s + 8)

(5P — T2+ 3t) (7 — 3t3)(3t* — 6t°)

(=9n° + 3n")(Tn® + n?)(—3n° —n?)

(Tw — 7)(4w* + 6w® — Tw?)(Sw* — 5uw?)

(357 —

25)(5s” — 75" + 75°) (85" + 757)
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Multiplying Three Mon/Polynomials (F') Answers
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Simplify each expression.

(—5® —85% +35)(9s* + 5* — 35%)(—9s + 8)
— 81s% + 58557 — 7825 — 675" + 297s* — 7257

(587 — Tt 4 3t) (1P — 3t%)(3t* — 617)
— — 1560 + 6¢° + 102¢% — 135¢7 + 54¢°

(=9n° + 3n")(Tn® + n?)(—3n° —n?)
— 1890 + 27012 — 21p!t — 310

(Tw = 7) (4w + 6w’ — Tw?)(Bw* — 5uw’)
— 224w” — 28uw® — 798w " + 847w" — 245w°

(357 — 25)(5s” — Ts* 4+ 75%)(85% + 757)
— 120s' — 1435” + 635° 4 13357 — 9840
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